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(i) Define contextswitching.
ST fafan &1 gftyw wife

(iii) Nameany two system calls.
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(iv) Name any two CPU schedulin
algorithm. )
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(xi) Whatis starrotion?
e e
(xii) Whatis paging?
A = 7
(xiii) Write —any tw
operating system.
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(xiv) Defineaging.
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o Dbasic functions of
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(v)  Write the full form of
S
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(vi) Whatiscompiler? m %"
ith diagram.
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(vii) Whatissemaphorevaliibio S-//dIplOINa te O [\ FOR
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(viii) Define the term interrupt ? -
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1x)  Write full from of BIOS
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j” Explain process state w1
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(iii) ExplamLmker&Loader
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(j{) Differentiate between FCFS & SJF

scheduling.
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(v) Whatis critical section problem ?
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Explain \inked & index allocation.
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